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Q.No: 1 Who out of the following was not a part of the revolt of 1857?

2427968
Frofafea & ¥ 3 1857 & fagie @1 fowa 7t ar?
Kunwar Singh
A
FR R
Rani Laxmi Bai
B
T e A
Maulvi Ahmadullah Shah
C
et srgrge S
Ashfaq Ullah Khan
D

SRHIH Jedle @
Correct Ans : D

Subject : General Knowledge

Q.No: 2 Lal Bahadur Shastri is not associated with-

2428004
I TgTER R &1 ey b 7 8-
Tashkent Declaration
A
ARTGS =T
Salt Satyagraha
B
THS TAUE
Establishment of Congress
C
BN P R
Servants of India Society
D

wdew o 3Fow Greedt
Correct Ans : C

Subject : General Knowledge

Q.No: 3  India has entered into trading agreements with various countries of the world with the objective of boosting its ..........c......

2430693
URA A F16Y AR $ 96101 34 & 329 4 gfvan & fafta o< & wny........ gt o &
retail trade
A
G AR
entre-pot trade
B
T2 MR
external trade
Cc

TEd AR

D internal trade
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3ffafe MR
Correct Ans : C

Subject : General Knowledge

Q.No: 4 The first and last day of Pongal is called respectively

2431026
T F TEd SR onfeR fort B 1 I 8
Bogi, Mattu
A
afl, wreg
Bogi, Kaanum
B
anft, B
Mattu, Bogi
C
Teg, St
Mattu, Surya
D

g, @
Correct Ans : B

Subject : General Knowledge

Q.No: 5  Who among the following prepared the draft of Quit India Resolution?

2433601
Fafefea & § e YR SIS R P IReY (aR
Acharya J B Kriplani
A
S o <t poart
Sardar Vallabhbhai Patel
B
TR TEHUE ST
Jawahar lal Nehru
Cc
ST T A
Dr. B R Ambedkar
D

ST <t IR eaEHR

Correct Ans : C

Subject : General Knowledge

Q.No: 6  Under the Pradhan Mantri Mudra Yojana, the loan up to the maximum amount of Rs.?

2434061

T HAt geT A & siarfa sifiiean e S U 9% &1 01 ye b S § 2

5 Lakh
A

5@

10 Lakh
B

10 I

15 Lakh
C

15 9 E

25 Lakh
D

25 A@

Correct Ans : B

Subject : General Knowledge


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 7 Which of the following grasslands is located in New Zealand?

2437268
Frofafea & 3 o9 a1 U o1 fem <eids 3 Ra 82
Savanna
A
KiCIE!
Canterbury
B
Foad
Downs
C
S
Llanos
D
e

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Sultan Azlan Shah Hockey tournament is organized in -

2440814
Y SO T gt grfie T airerar fepa simar & -
Pakistan
A
IR
Malaysia
B
HaRwr
Maldives
C
e
India
D
HRd

Correct Ans : B

Subject : General Knowledge

Q.No: 9 Who won the US Open 2021 men’s title?

2440836
ud $iud 2021 G &1 Raae foen sfare
Novak Djokovic
A
Aare St
Rafael Nadal
B
T TSI
Daniil Medvedev
Cc
e Aeddg
Joe Salisbury
D

<t et

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Who out of the following became the first police commissioner of Indore?
2441014

Fofifaa ¥ 9 o1 $ER ¥ wgd gfem sieR 937
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A Hari Narayan Chari Mishra
B TR = s
Ravi Sinha
B
R R
Kanhaiya Tripathi
C
o Pt
Jagdish Bhanu Mehta
D

SATEHRT 4T HedT
Correct Ans : A

Subject : General Knowledge

Q.No: 11 The Chaumukhanath/Chaturmukh Temple is dated to the century.
2441163
qgEr / TggE Y, vl @R
7th
A
7
8th
B
8
9th
C
o df
10th
D
109

Correct Ans : C

Subject : General Knowledge

Q.No: 12 The Koshak Mahal is. complete storeyed mansions at four corners.
2441187
FIE HZW IR P R ol wierer gae 2
Two
A
Q
Three
B
ik
Four
c
IR
Five
D
RIc|

Correct Ans : B

Subject : General Knowledge

Q.No: 13 To which era do the ruins of open museum of Kherat in Bhind belong to?
2441217

fils & @a & QA IR ¥ USE 0 g1 F §7
10th Century

1097 Tdred}
B 11th Century
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11 el

12th Century
C

124 Tt

13th Century
D

13 df rarsdt
Correct Ans : A

Subject : General Knowledge

Q.No: 14 Patalpani is located at the outskirts of the city of -.
2441393

A TR P e 3 3 Ra gl

Indore

R

Jabalpur

SR

Gwalior

IR

Burhanpur

TRAR
Correct Ans : A

Subject : General Knowledge

Q.No: 15 Alirajpur lies in Malwa district which is in the part of MP.
2441430
SEIRTSIQR Areran forer & Rua & S aw & W H §-
Eastern
A
i
Southern
B
EiL
Northern
C
I
Western
D
ufEm

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Who among the following had the shortest term as the Chief Minister of Madhya Pradesh?
2441757

Fofafaa & @ e A wew & genidt & 9 H el Biet Sde 92
Prakash Chandra Sethi

YS9 H3
Shayama Chandra Shukla

YT T ol
Cc Kailash Joshi
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e okl

Naresh Chandra Singh
= 9% Rig

Correct Ans : D

Subject : General Knowledge

Q.No: 17 The first elections to the Madhya Pradesh Vidhan Sabha were held in which year?

2441780
T TN fAUFHHT @1 Ugen g1 fha 9y gam ur?
1952
A
1952
1956
B
1956
1957
c
1957
1962
D
1962

Correct Ans : C

Subject : General Knowledge

Q.No: 18 The Alp Viram Programme is implemented by the -

2441825
sreq fRm i s g ewaffad faman g -
Directorate of Health Services, Govt. of MP
A
e a1 (=, 1. 9. WER
Rajya Anand Sansthan, Govt. of MP
B
I ST WM, A. 9. WHR
Finance Ministry, Govt. of MP
C
fa=t Harerg, . 9. WSR
Commerce and Industry Ministry, Govt. of MP
D

T AR FERT T, A o WHR
Correct Ans : B

Subject : General Knowledge

Q.No: 19 Which of the following commodity is produced only in Madhya Pradesh?

2441868
Frofafea # 9 $1 9 3%g 31 Swed Saa 7L U H g 87
Lead
A
Bl
Gold
B
g
Diamond
C
[
Soybean
D
Becicy

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Golden Temple is situated at which place?

2442496
i TR e M W R@ 2
Amritsar
A
SHTER
Bikaner
B
HerR
Udhampur
C
SUHR
Kishtwar
D

frzaars

Correct Ans : A

Subject : General Knowledge

Q.No: 21  What are the weak zones around the boundaries of plates underneath Earth, which are prone to slide and cause earthquake are known as:

2425791
gt & R Qe @GSl & 1e-UR ¥ FHOR &7 B F ¥, o frEe 3R 4T ST $RU a2,
Explosive zone
A
Rrepres &
Sliding zone
B
wrfET &
Erruption zone
C
WRGed 8
Fault zone
D
i W

Correct Ans : D

Subject : General Science

Q.No: 22 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429128 apswer to the question from the given options.

Assertion (A):Consequences of deforestation is a loss of biodiversity.

Reason(R):Deforestation refers to the decrease in forest areas across the world that are lost for other uses such as agricultural croplands, urbanization and mining activities.
P Fofafed gy # < $F € r 3 @ 3 aifisyT ok g @ "SRU” & ¥ H daa {501 T 81 M) 3 S Hul 31 Fraurigde oig St § o 3T e fawedt # ¥ uy o1 96 SW
3t (A): T T Bers B uRom S ffgear @t g 81

PR (R): T B Fers gfam 1R § a7 &1 § it ) ehfa F=elt § o SN e yfty, wedeur ok @ nfafaftrd S8 sy Swanh & for @ 3 §)

Both A and R are true

A

T IR 3R GF w8

Both A and R are false
B

T 3R o N orr §

A is true but R is false.
C

TN § AP SR o B

D A is false but R is true.
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T 3T § A SR T 71
Correct Ans : A

Subject : General Science

Q.No: 23 What is the scientific name of wheat?

2429834
g &1 aqMS 1 T 82
Triticum vulgare
A
fefewn a@m
Oryza sativa
B
3t dfear
Allium cepas
C
e dur
Cocus nuciferus
D

PrHd U
Correct Ans : A

Subject : General Science

Q.No: 24 The centre for formation in pyrenoids is for -

2429891
RSy @1 & fred e ® -
starch

A
wr
fat

B
ERl
enzyme

C
fvas
protein

D
wés

Correct Ans : A

Subject : General Science

Q.No: 25 Observe the following figure given below. This organism belongs to which kingdom?
2429919

angiosperm

o

B gymnosperm
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oA
bryophytes
C
ElU I gEr:
pteridophytes
D
M wEe

Correct Ans : B

Subject : General Science

Q.No: 26  Acetaminophen is

2430153
TR B
Antibiotic
A
hamifes
Antipyretic
B
SRS
Sedative
C
TMHE
Psychedelic
D
RECIRED

Correct Ans : B

Subject : General Science

Q.No: 27  Platyhelminthes carries out the excretory function by the help of ?

2430855
wfeHRE IeH F1 Frf frust Tera  Ixa € ?
Renette cells

A
e da
Flame cells

B
& BT

c Chloragogen

D Attenary glands
& it

Correct Ans : B

Subject : General Science

Q.No: 28 Which of the following is a fruit and NOT a vegetable?

2431626
Frafed 3§ 4 #1 wb wa § 3R el Tl 87
Olive
A
S
Potato
B
S
Spinach
c
RGeS
Silver beet
D
Rrcadte

Correct Ans : A

Subject : General Science
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Q.No: 29 Alexander Fleming is known for the invention of -

2431672
AT W P e IR & forg I St 82
pH meter
A
dieg Hex
Penicillin
B
R
Osmosis
C
SR
Typewriter
D
TIRWIREX

Correct Ans : B

Subject : General Science

Q.No: 30 Earthworms breathe through their:

2432178
Fqu fEud gR uie o §2
Skin
A
o1
Nasal cavities
B
I 6T
Lungs
c
e
Bones
D
o

Correct Ans : A

Subject : General Science

Q.No: 31 Robert Koch discovered the bacterium Bacillus anthracis which causes disease.
2432210
e FIg 7 Siany SRy WRiN @) @9 3 S T HT HRO T B
Polio
A
et
Hepatitis A
B
BlerRa g
Anthrax
Cc
Ll
Typhoid
D
TRPIES

Correct Ans : C

Subject : General Science

Q.No: 32 Which of the following is NOT a sign of good social health?
2434275

FroRifEd & A 3 o= AR W @1 Gd T8 82
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A Having a positive attitude towards lite
e F ufar TpRIeT® o @
Getting along well with others
B
TRgRIe WS
Having healthy interpersonal relationships with others
C
TR & Y W URERS Yefe] TG T
Always hiding disagreement with others
D

TR el & W srEy fyar
Correct Ans : D

Subject : General Science

Q.No: 33 Trachoma is a disease of the -

2434304
S g AT &2
Trachea
A
Sfwan
Heart
B
&
Eye
C
Bl
Spinal cord
D
B ot 7

Correct Ans : C

Subject : General Science

Q.No: 34 How many essential vitamins are there?

2434344
AR fyerfi v 82
6
A
6
13
B
13
26
c
26
38
D
38

Correct Ans : B

Subject : General Science

Q.No: 35 Every object in the universe, whether small or large, exerts a force on every other object. This force is known as the
2434548

IR, MBIV T T, RN IR G TA TN TIAH S EIA A A

frictional force

Y T

B magnetic force
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Yoo
gravitational force
C
TEBY §6
tension force
D

g 99
Correct Ans : C

Subject : General Science

%"“2‘:43160 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1t number?

5:31:7:?

W TEAT /RFeT F1 994 HT S 9l TEw § 36 YE6R GEtd § S g@d 3T qge
HEar & wefta ¥
5:3147:?

50

50
52

52
55

55
57

57
Correct Ans : D

Subject : General Reasoning

Q.No: 37 In the given figure, Circle represents soft drinks, Square represents Pepsi and Triangle represents Coca-Cola.
2426571

How many Pepsi Soft drinks are there?

&7 anfal #, a0 <aa T &1 ufafifia wxar 7, 3 It 31 nfaffia S € ok By Sier-se &1 nfafifia s=a )

24
A

24

20
B

20

38
C

38


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

4
Correct Ans : A

Subject : General Reasoning

Q.No: 38 Select the Lettered pair that has the same relationship as given in the questions:

2426837
Teeth : Chew ?
I ER T T 797 HY foraet day usit H fau e wue way § 3
gid : garsll ?
Mind : Think
A
T : G
Sweater : Heat
B
Wex : T
Food : Taste
G
1o : @R
Eyes : Cage
D
3 : fifoRT

Correct Ans : A

Subject : General Reasoning

Q.No: 39 Find the missing term in the following series.

2428310
P3C, RSF, T8I, VI2L, ?
Fruffea g § g« g 7 S
P3C, R5F, T8I, VI2L, ?
X160
A
X160
Y170
B
Y170
X17M
c
X17M
X170
D
X170

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Find the missing term in the following series.
2428328
OAL75, MZN72, KBP6&9, IYR66, ?

Frafafea Jae & gu ue 3. sl
OAL75, MZN72, KBP69, IYR66, ?
GCI59

GCI59
QXxJ61

QX161
Cc GCT63
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GCT63

QXT65

QXT65
Correct Ans : C

Subject : General Reasoning

Q.No: 41 Read the following information and answer the questions given below it:
2429591

‘A + B’ means ‘A is the son of B,

‘A - B’ means ‘A is the wife of B'.

‘A x B’ means ‘A is the sister of B".

‘A + B’ means ‘A is the brother of B"

‘A = B’ means ‘A is the father of B'.

If L - K + ] - S, which of the following is not true?

FufifEa SreRt o1 argds srerm o3 aur = T e uy F1Iw T
A+ B ITAHIR A, BRI

‘A - B @1 B A, BB U

A x B B A, B I T O

A+ B AT RA, B P UE Y

‘A =B HTaHfR A, BITRAR
FREL-K+I-53, @ H I3 a7 82

L is sister-in-law of J.

L, J P Ree-ga-ai &
J is brother of K.

I, KTTHEE

K is husband of L.

K LB E

J and S are couples.

JIRSTEE
Correct Ans : B

Subject : General Reasoning

Q.No: 42 If Neena says, “Anita’s father Raman is the only son of my father-in-law Mahipal” then how is Bindu, who is the sister of Anita, related to Mahipal?

2429598
IR A el @, ot & e T TR R AfEUra P gabelld T @ o g S orfiar ) e @ wleur & by ueR Heiid 82
Niece
A
el
Daughter
B
o
Wife
C
Tt
Grand daughter
D

Tt

Correct Ans : D

Subject : General Reasoning

Q.No: 43  Which answer figure will complete the pattern in the question figure?
2433207

GET IT ON

Google Play
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UX
/\\\<?

B W IR Sl U= P 7 e ot qof wwrhhl

i
X?
¢
¢
N

X

v
7
4
V\

Correct Ans : D

Subject : General Reasoning

Q.No: 44 Complete the question figure by choosing the best alternative from the answer figure.
2433525
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Correct Ans : C

Subject : General Reasoning

Q.No: 45 In the following question, select the odd number from the given alternatives.

2435045
Frofifed wy & R T fawedi & I fwm Sem &1 997 ik
441
A
aa1
169
B
169
729
C
729
324
D
324

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Identify the classes that best represents the relationship among the given diagram.

2435624
FA I B UgAH X o U M o F 9 Wdy 1 T 931 wlafifE 33 €
Elephant, carnivores, tiger

A
Trft, TR, ™
wood, furniture, chair

B

e, TR, TR

C Class, blackboard, School
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TafT, DA, A

Rabi-crop, paddy, wheat

-5, 4, g
Correct Ans : C

Subject : General Reasoning

Q.No: 47 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

&D -

IR T v I 3RS 7 Y R @ o, A < g Reew srpfdi # § w-w w6 adv of gnfte
A

Correct Ans : A
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Subject : General Reasoning

Q.No: 48 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438851
o ar Jen-gm & ¥ & ww A &% J@9fa g, ™ i g, e T ak
49:94
A
49:94
15:51
B
15:51
38:83
Cc
38:83
56:67
D
56:67

Correct Ans : D

Subject : General Reasoning

Q.No: 49 Pointing to a woman in a photograph, a man says, “She is the mother of my daughter-in-law’s husband’s only sister.” How is the woman related to the man?

2439310
TF TER § UF Hiiar 3T 3R 3R 7R §U TF ¥ Fedl 7, "9 AN G F Ul B el 957 B 7 1" Al H1 gy & @ I6y §2
Wife
A
Telt
Mother
B
=it
Sister
C
T
Daughter
D
Eoil

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Choose the group of letter which is different from other.

2439465

&Rt & 39 9Yg &1 I S o & A R

ABC
A

ABC

NOQ
B

NOQ

IKM
o

JKM

RSU
D

RSU

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440241 (onsistent with the main statement.
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If our branch fulfills the target, we will be awarded

A. our branch fulfilled the target
B. our branch did not fulfill the target
C. we were awarded

D. we were not awarded

fow e s 7 B SR ID A1G AR HUT §1 HYA BT DA TH T, SIET T84 HUT B Al g YA A §, IR A B difebed Y F TOT HUT A I g1
I AR ARIT AT B GR FA 3, N T GRIP (p a1 S

A. BERI T A 989 QU

B. BRI IR A 7ed G el febar

C. g gl feban

D. T WRIa a1 fobar Tm

BD
A

BD

BC
B

BC

DA
&

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440290 (opgistent with the main statement.

If you don’t submit the documents, your application will be rejected
A. you submitted the documents

B. you did not submit the documents

C. your application was rejected

D. your application was accepted.

T e wy # e B SR IHD A1E TR P §1 HUA! BT DA TH T, SET T6A BT BT Ak g PUA 8, R & $Y dfdd T I BT BT F I 8
I ST SRATIS ST AGT B 8, A MIPT MG IRABR Y far smem

A. 3T TR ST g

B. 3T GRS ST g1 fbQ

C. 3T Mde TR H fear mar ur

D. SIS a5 TR o e w1

AB
A

AB

BA
B

BA

CA
C

CA

DA
D

DA

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440336 (ongistent with the main statement.


https://applink.adda247.com/d/XhqWf9lSap

Addal247

A politician is either honest or dishonest

A. Politician is honest
B. Politician is not honest
C. Politician is dishonest

D. Politician is not dishonest

o M gy 7 4o B SR SUF 91G TR T §1 BU B HHG G G, Taf Ted ST B Al gk HYF 9 7, 3R 4 FUA qfhd FU Y T $UF Y T 71
T S A1 A SAFER 1 FEHH B §

A. ST $AMER §

B. YOIl SRR T8 §

C. ooy FEAH ¢

D. TR S 7 &
AC

AC
DA

DA
CD

CcD
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 54 Select the related word pair from the given alternatives.

2441980
Human : Oxygen :: ?
feg g faeredt & & Sl wez g &1 9a 8% |
TG iAo 1 ?
Patient: Medicine
A
Inft: Sy
Disease: Birth
B
J: 5
Bed: Relief
C
fareR: g
Glucose: Power
D

T WA
Correct Ans : A

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442023
Pen : Write
feu MU fam el & Tafia Weg H1 99 R
Fad : o

A Knife : Cut

AR : el

GET IT ON

Google Play
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B Nib : Pencil
A : W
Car : Sitting
€ IR : 6T
Scholar : Book
D —

Correct Ans : A

Subject : General Reasoning

QNo:56 . ... 12 {3 16 | s}}
2422417 Slmphfy.is st (13 s

m#rﬁm:ﬁ_{%Jr(EJ}}

18 9.

A
s
3
3
B
31
3
&
5
C
N
s
6
15
D

Correct Ans : D

Subject : General Maths

Q.No: 57 Rahul borrowed a sum of Rs.7750 from Suresh for two years. If the rate of interest is 11% compounded annually, find the amount that Rakesh has to pay back.

2423629

A A G Y 7750 FU <) WA F forg IR w1 af =91 3 R 11% dIfiE w9 G TG §, A TH B A0 YIAE 1S drelt IR J1d S

Rs.1234.98
A

Rs.1234.98

Rs.3029.54
B

Rs.3029.54

Rs.1654.34
c

Rs.1654.34

Rs.9377.5
D

Rs.9377.5

Correct Ans : D

Subject : General Maths

Q.No: 58 A sum of money deposited at 11% per annum compounded annually becomes Rs. 5590 at the end of 2 years. Find the sum deposited
2423654

11% v 3 Ft R | 51 1 7 W IIffer U F Ao iR 2 af F o & 5590 T & RN 1 S B S I HT w1 Ay
Rs.8617.3815

Rs.8617.3815

n- Arne acna
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B R
Rs.4536.9694
Rs.1321.980

C
Rs.1321.156
Rs.3341.158

D
Rs.3341.158

Correct Ans : B

Subject : General Maths

Q.No: 59  What will be the compound interest at the rate of 7% per annum for 3 years on that principal which in 3 years at the rate of 7% per annum gives Rs. 8421 as simple interest.

2423669
39 gauT W 3 I F R 7% ufiad ot R § Tl st 71 gm o 3 9 F 7% vid 9 1 R § ¥.8421 WYRY AW F FUH B
Rs.1102.34

A
Rs.1102.34
Rs.1532.661

B
Rs.1632.661
Rs.5702.683

C
Rs.5702.683
Rs.9024.2243

D

Rs.9024.2243
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428554
3+12-10+ (2 x 10 + 5)
R
3+12-10+ (2 x 10 + 5)
5
A
5
7
B
7
-7
Cc
-7
9
D
9

Correct Ans : D

Subject : General Maths

Q.No: 61 Solve:
2428635
{40.8 + 79.9 0of 12,7 - 89.9 x 5 + [66.66 + 6 + 225.5 + 5 - 23.4 + (45.5 of 7 - 85.5 of 4)]}

g DX
{40.8 + 79.9 0of 12.7 - 89.9 x 5 + [66.66 + 6 + 225.5 + 5 - 23.4 + (7 ©145.5 - 4 &1 85.5)]}
A 615
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615

615.34

615.34
715.38

715.38
715

715
Correct Ans : B

Subject : General Maths

Q.No: 62 Express the following ratio in the simplest form.

2429415
1108 : 310
SFUTd B WRAAH T H R HL
1108 : 310
498 : 756
A
498 : 756
110:171
B
110:171
554 : 155
c
554 : 155
376 : 109
D
376 :109

Correct Ans : C

Subject : General Maths

Q.No: 63 If the average number of 8 terms is given to be 40 and the average of first 6 terms is given to be 35. What is the average of the remaining 2 terms?

2432533
I 8 TaI BT S BT 40 & 9T 3R Teel 6 Tal &1 ofea 35 e mar g
Ay 2 el &1 Sirga 71 32
55
A
55
65
B
65
45
c
45
54
D
54

Correct Ans : A
Subject : General Maths

Q.No: 64 Find the average of 6, 13, 17, 21, 23.

2432538
6, 13, 17, 21, 23 I 3iNId TG BT
16

A
16


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

18

15
C

15

20
D

20

Correct Ans : A
Subject : General Maths

Q.No: 65 The average of 9 results is 50. The average of first four results is 52 and average of last four results is 49. what is the fifth result?
2432585

9 gRuTHi F7 fRId 50 ¥ UE TR UM F1 i 52 ¥ 3R sifow IR ufkomdt #1 eiwd 49 ¥1 uigat uRomm @1 Siwd Fm g2

44
A

44

45
B

45

46
C

46

47
D

a7

Correct Ans : C
Subject : General Maths

Q.No: 66 yWhat should come in place of question mark in the following number series?

2433071 e ]
(G+ ) xP=48
11 22

Fafafa dear-gaar & wafeg (2) F S0 < 17 AW A0

(1—81+ 2—32)x72=418

24

24
22

22
25

25
21

21
Correct Ans : B

Subject : General Maths

342276575 Ifa?+ b2+ c2=2(a—b +c)— 3, then the value of (a — 4b — 3¢) is:

1:lﬁaz+b3~l~c2=2(a—b+c)—3,?‘-ﬁ(a~4b-3c)$”:ﬂ:f3ﬂ?[ﬁ:

1
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2

-1
C

-1

0
D

0

Correct Ans : B

Subject : General Maths

Q.No: 68 Anand wanted to sell a watch with 10% profit; but he actually sold at 10% loss for 360. At what price he wanted to sell it to earn the profit?

2435250

3G 10% TH F T Teh UL JT1 15l ol; Afd I9 arad F T 10% 31 81 W 360 T3 F 37 fam ey oifofd 73 & o a8 38 59 e W S=1 =rgan a1?

Rs 400
A

400 39

Rs 360
B

360 ¥0

Rs 440
c

440 T

Rs 340
D

340 IW

Correct Ans : C

Subject : General Maths

Q.No: 69 In a company there were 3500 employees and the ratio of number of the males and the number of females was 5 : 2. After a few days, 100 females joined the company but a
2435440 Ag 5 result the ratio of the males and females became 20 : 11. The number of males who left the company is:

TF SO H 3500 FHART 4 3R IFN B W SR Afeeneil S U BT g 5 : 2 A1l T A F 9%, 100 HigA S # wmfE g 7, e o geu 1 S faan uRumasy geEt o Afe
: 11 B 1) SO BISA AT g1 B TS [ N2

400
A

400

450
B

450

500
(o]

500

525
D

525

Correct Ans : C

Subject : General Maths

S4r\l3°7 57008 5; of a number is 105, find the number.

@;’r@nm; 105 8, A AT T BRI

145
A

145

147
B

147
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c 14
149
151
D
151

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘VIJAY' is written ‘YAJIV' then *SUDHA’ will be written in the same language as?

2422557
g fat Wisfa wion & 'VIAY' B YAIIV' foRaT S1g ol * SUDHA" @1 It 1w # forar simaen forgd?
DHASU
A
DHASU
SUAHD
B
SUAHD
AHSUD
o
AHSUD
AHDUS
D
AHDUS

Correct Ans : D

Subject : Mental Ability

Q.No: 72 If in a certain code, TWENTY is written as 863985 and ELEVEN is written as 323039. How is TWELVE written is that code?

2426493
T T Pffd $s & TWENTY 1 863985 3R ELEVEN &l 323039 frar oI &1 TWELVE &1 3 foran S 8 a8 o1s 82
863203
A
863203
863584
B
863584
863903
C
863903
863063
D
863063

Correct Ans : A
Subject : Mental Ability

Q.No: 73 In a certain code if

2434408
sri rps tri means Janta Curfew Day
utv tri swr means Good Day Biscuits

swr rps means Good Janta

then what will be the value of Biscuits?

T iy ge v 7 Al

sri rps tri o1 3 Janta Curfew Day g
utv tri swr @1 31f Good Day Biscuits 7
SWr rps @I 3% Good Janta §

I Biscuits &1 9 1 gAIT?

A rps

GET IT ON

Google Play
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rps

utv

utv

swr

swr

tri

tri
Correct Ans : B
Subject : Mental Ability

Q.No: 74 In a certain code language, OPPORTUNITY is written as BGRMFGILKKL. How will FIREWORK be written as in that language?

2434444

% fAf¥d Fe urer H, OPPORTUNITY & BGRMFGILKKL % w0 ¥ forar oran 21 <t It g+ § FIREWORK &1 &3 ferar smgmr?

PLIDVIUR
A

PLIDVIUR

PILDVURI
B

PILDVURI

PILDVIRU
c

PILDVIRU

PILPUVIR
D

PILPUVIR

Correct Ans : C

Subject : Mental Ability

Q.No: 75 There are five books of different weights. P is heavier than R and Q is heavier than S. T is lighter than Q but heavier than R. S is lighter than R. Which is the lightest book?

2435340
ST-HET ToH P U G S P, RIUM T AN Q, STURBIT, QAT 3 AFA RA U B1 S, R I Tl 31 T §oob! G I }T 82
R

A

B
Q
s

c
T

D
T

Correct Ans : C

Subject : Mental Ability

Q.No: 76 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435480 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. All bikes are cars.

II. All jeeps are cars.
Conclusions:

I. All cars are bikes.

II. Some bikes are jeeps.

III. All cars are jeeps.
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=i o T iy F € HuF SR ITF T1E diF B 1, 11 3R 111 13T T §1 v T U Hu B O WA §, W S 3 e a9 O vdia g 8 ok TR q &% 6 o e R o s

RO ell B

PYT:

1. 9 959 FR B

11, Jft Sftg 3R 31

fred:

L 9 BR 95 3

11. $ 1P g g1

1L 9t $R S 31

Only conclusion I follows.
A

e e 1 3R HRar )

Only conclusion II follows.
B

Faa Frepd 11 SrgeRr Feer B

Both conclusions I and II follows.
Cc

Bt s 1 3R 1T SR A &

None of the conclusions follows.
D

¥t P argerer T o 81

Correct Ans : D

Subject : Mental Ability

Q.No: 77 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435540 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some blades are papers.
II. All papers are files.

III. All files are records.
Conclusions:

1. Some blades are files.
II. All papers are records.

III. All records are blades.

= 3w T iy & M B 9fR I9d @ < P 1, 11 3R 111 U T 1 et AT T et ) W AT ], IR 3 WERGG: 1 aul ¥ e wlta g 2, simuwt i e § b T e aeei

A T A IR Rl 3

DY

1. 3O =18 TR gl

11. off TR BEE §

111, 9+t wrsd Ra1s 8

e

. 3O < BRA T

11 @f IR RaTE B

11 94 fars <is 81

Neither conclusion I nor II follows.
A

T s 1 3R 1T SITER IR B

Either conclusion I or II follows.
B

a7 & ey 147 T1 SR S B

Only conclusion II follows.
C

Faa ey 11 SRR v B

Both conclusions I and II follows.
D

Qi freepef 1 3R IX 3R A €

Correct Ans : D
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Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes have exactly three painted faces?

2438400
TF T B U 5 a1 78R 64 B SR A T A Fie 57 < 8, SRS w5et 9t gran Gva Tem € fad g e # S o 1 gU wes 92
6
A
6
8
B
8
10
€
10
12
D
12

Correct Ans : B

Subject : Mental Ability

Q.No: 79  What is the maximum number of pieces into which a cube can be cut by 8 cuts?

2438428
T T P 8 el & Hled R 3Hfidad e s wId g1 82
a8

A
a8
36

B
36
27

c
27
25

D
25

Correct Ans : A
Subject : Mental Ability

Q.No: 80 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439099 ynown facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All kings are empires.

All players are umpires.

All umpires are kings.
Conclusions:

I. Some umpires are empires.

II. All players are kings.

1 o e vy B 9 FuT T I Uy A SR 1 a1 AU T E 1 ST T T e @) 9 WA © , WA 8 9g Sdaa addl & P Tl € 81 aut Sl F SR TR SI®T $O STR  §
FA:

¥t T W B

Fof RIwgh iU 1

ft SRR Tl B

Frsp:

1. $T SURR IHA gl

11. Tt e e g1

A Both conclusion I and II follow
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Py I 3R 11 GHT 3R & 8

Neither conclusion I nor II follows

B
T3 P 1 SR 7T 1T SR e 3
Only conclusion I follow
G
Fad ey 1 R Har Bl
Only conclusion II follows
D

P Y 11 SR FRal B
Correct Ans : A
Subject : Mental Ability

Q.No: 81 If room is called window, window is called door, door is called bed, bed is called chair, chair is called cupboard, cupboard is called table and table is called stool. In which we pu

2439213
IR FIR I (AP Fgl Y, fASH FY <RAT Fg1 AN, XA FI [F&R Fg1 A1, %R &1 Fif Ho1 71w, Fdf H1 emRt Fg1 9, SR 1 290 Bl AT AR 90 B IFd gl Tl gH 3T
Bed
A
o
Chair
B
il
Cupboard
c
SEHRY
Table
D
T a

Correct Ans : D

Subject : Mental Ability

Q.No: 82 If belt is called socks, socks are called handkerchief, handkerchief is called shoes and shoes are called tie. Lases are tied with

2439252
If2 o< F A1 Bl WAl §, ol P SHT el Sl &, T Bl G gl Sl § AR S P <1 el oIl 81 o & qy §d §
Socks
A
|
Shoes
B
©
Handkerchief
C
THIE
Tie
D
o

Correct Ans : D

Subject : Mental Ability

Q.No: 83 If ‘paper' is called ‘wood’, ‘wood’ is called ‘straw’, ‘straw’ is called 'grass' , ‘grass’ is called ‘rubber’ and 'rubber’ is called ‘cloth’, what is the furniture made up of?

2439282
I BT P THEY, THS BT YA, YT B AR, YR P R AR R B SUST Fe WY, A GAER A 1
Paper
A
PRI
Wood
B
qBG
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Straw

gaireT

Grass

u
Correct Ans : C

Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the English dictionary.
2442737

1. Defect

2. Defence

3. Deerstalker

4. Defensive

Pl wedl &1 WsEai % RE U B0 F ruRr i
1. Defect

2. Defence

3. Deerstalker

4. Defensive

2,3,1,4

2,3,1,4
1,3,2,4

1,3,2,4
4,3,1,2

4,3,1,2
3,124

3,1,2,4
Correct Ans : D
Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442778

AWAKENED

R M I wedl & ¥ a8 Wss g S RE ¢ 1eg & 31eRT 1 W @R e ST o el
AWAKENED
Wake

Wake

Weak

Weak

Week

Week

Warm

Warm
Correct Ans : D

Subject : Mental Ability

Q.No: 86 If 10 girls can prepare 170 garlands in 17 hours, how many girls are needed to prepare 280 garlands in 1 hour?
2423722

T 10 wsfargi 5 92 § 170 AT IR IR IHdl §, @ 1 62 H 280 HIAI FUR HA & e fra-h asferdl 9 srazgear gnfie

GET IT ON
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150 girls
A

150 gefpal

380 girls
B

380 wsfwal

320 girls
C

320 gefaaf

280 girls
D

280 wefHar

Correct Ans : D

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 21 days; B and C in 27 days and A and C in 29 days. In what time can they do it, all working together?

2423740
A IR B UF S &I 21 Al § FR U&d §; B @R ¢, 27 &A1 F ok B @R ¢, 29 fa=ff #1 3 9} e 1y w0 TR0 gU IR b g F IR wHd 82
9876/234 days
A
9876/234 f&A
7654/123 days
B
7654/123 {7
10962/653 days
c
10962/653 f&A
3472/542 days
D

3472/542 f&A
Correct Ans : C

Subject : General Aptitude

Q.No: 88 Find the triangle’s base if area is 210 cm? and height is 7 cm.
2426207

T a1 210 Ja § 3R Fars 7§ § at Bremtor o1 3mmeR €81

65 cm

A
65 iR
60 cm

B
60 Fhfier
85 cm

C
85 ¥y
55 cm

D
55 Ffier

Correct Ans : B

Subject : General Aptitude

Q.No: 89  Which of the following is divisible by 4?

2427605
Frafefea & 3 31 4 3 Ry &2
6070602

A
6070602

B 4068921

GET IT ON

Google Play
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4068921

2376844
Cc

2376844

3498703
D

3498703

Correct Ans : C

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 8?

2427618
Frafafea & & oM 8 9 faursa 82
8282725189178

A
8282725189178
87469004247

B
87469004247
875424790975

C
875424790975
754589642468

D
754589642468

Correct Ans : A

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 6?

2427631
frofafaa & § 319 6 § v 22
741278062588378

A
741278062588378
26781375447975

B
26781375447975
785421098964

c
785421098964
1323789247824789312

D
1323789247824789312

Correct Ans : D

Subject : General Aptitude

Q.No: 92 The age of a man is three times the sum of the ages of his two sons. Five years hence, his age will be double of the sum of the ages of his sons. The father’s present age is?

2431186 T o o S S G A o A ) A TR 21 i e A, St oy SE A A o A @ ApR 31 e ) ke om0
o e

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The digits of a two-digit number differ by six. Find the difference of the number and the number formed by reversing its digits.
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2431197

31 3T BT WST F SlF! T TF BT AW 71 JTD P B IJaieA ¥ T Gl 3R VBT $T 3R o= il

a8
A

a8

84
B

84

54
c

54

66
D

66

Correct Ans : C

Subject : General Aptitude

Q.No: 94 If 2x+y = 5 and 3x- 4 y = 2, then the value of 2xy is :
2431253 gfg 2x+y = 5 3R 3x- 4y = 2 T 2xy BT A G ¢

A

C

D

HE 00 OG0 bbb

0
o
Correct Ans : A

Subject : General Aptitude

Q.No: 95 The three lengths of a right-angled triangle are (x - 3), (x + 14) & (x + 15) cm, where x is a positive integer. Find the length of it’s hypotenuse.
2431326 TS GHSH AT BT YR (x - 3), (x + 14) 3R (x + 15) I §1 x T TS G871 &1 AU & Huf @51 avars a1 grft?

26 cm

A 26 3
B 20 cm
20 ¥
C 34 cm
34 3t
25 cm
o 25 I

Correct Ans : D

Subject : General Aptitude

Q.No: 96 If a circular grass lawn of 7 m in radius has a path 7 m wide running around it on the outside, then the area of the path is?

2433741

% 7 Wex B & & R 99 & A A 96 B R 7 Wex 191 IRl 7@ 38T §, O U4 T Swd 82

564
A

564

432
B

432

462
c

462

342
D

342

Correct Ans : C

Subject : General Aptitude

Q.No: 97 Find the area of each sector, when a circle divided into eight sectors Radius 42 cm?
2433775

A RS o1 damd I FIRT, 59 T 0 91 36 Aeas! # R fvar o 7, Rt e 42 36 82

rre
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A S
656
693

B
693
616.9

C
616.9
157

D
157

Correct Ans : B

Subject : General Aptitude

Q.No: 98 If the 8-digit number 789x531y is divisible by 72, then the value of (5x - 3y) is:

2436199
g 316 3wl BT TV 789x531y, T 72 | fAUT ], d (5x - 3y) BT 0H gl
0
A
0
-1
B
-1
2
C
2
1
D
1

Correct Ans : B

Subject : General Aptitude

Q.No: 99 The product of two 2-digit numbers is 2160 and their H.C.F. is 12. The numbers are

2444622
2 & Pt GBS BT PG 2160 § 3R TP Toud JuEdS 12 1 T T 1 82
(12, 60)
A
(12, 60)
(72, 30)
B
(72, 30)
(36, 60)
c
(36, 60)
(60, 72)
D
(60, 72)

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?
2444704

1050, 420, 168, 67.2, ?

Frefifea v 8 v g (2) & RIF R |1 3w

1050, 420, 168, 67.2, ?
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A "
14.25
26.88
B
26.88
16.80
C
16.80
18.40
D
18.40

Correct Ans : B

Subject : General Aptitude
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